CRE R TS BUEES L RLEEL LR
HRAE R

RFRARE L A RAAE PR 4
L ZEUBABEEL LTS - 2. FRAEIEFEL -

— BN

D eSS » B2
RYRUREN
B) A4
O BIEZRH
D) JBMEZ&R

2) TIWIERAY) TIREYE ) HERSEIT
A) FEENEF - BHSAROOERRIE 37C EFFE 45°C
B) IZEAYEE o B BEIR PR
C) MBRAEFK P Z4
D) SRS KEF - fnEE TR

3) TatfE " Hefan ) BT ARER ) AVIS R TR
A) #EAFR C — B
B) 4R A — HRAEEEDE
C) 4R D — 4HHEBEZAK
D) 4EF K — HinEkoH

4) DUT HEERH Y HLe] 2 TERE?
A) EHEEE
B) HEZE 7k
C) #AbHERE
D) BB KR EERT

5) DMl Bk my MRS S B2
A) FFFIRFR
B) K#Hk
C) HhEiHk
D) FfiF#ik

[(B1H $4H]



6y LATFRAI oK ey (Innate immunity) B9l (] 32 1 R
A) EEEFEIIEMEA
B) Sz fE5e B2 25 o 48w A 5] s [ A R Tl
C) HAPUAZEBLMERR AR
D) AEEHEEA BER

T) DA TSR R R 4E e R ?
A) iE
B) &35
C) fiffa

D) EEHA

8) HIFIFRZE (Prostaglandins) 2 FFI{a[ & H5T4 2k
A) {RE[#E (oligosaccharides)
B) HaRil#% (fatty acids)
C) HE[EIEE (cholesterol)
D) FEE% (amino acids)

) AL M e B L o] RET T AL SMEKE (external fertilization )?
A) e
B) it KA
O *AHEE
D) EJR

10) TEEIEAEIRRRGEER DU R R52 4 U2 (meroblastic cleavage), FESME
(extraecmbryonic membranes) EEJE{E (primitive streak) v
A) EBEk
B) Mi4#H
C) BS
D) JEHE

= HEE
1~ AL EE SRR % - (10%)

2~
(1) ~ SHMEAFAEEYICEIER (photosynthesis) #Y-RBISCHEHE(Calvin cycle) - AH5H-FH
MERERE A ERE RS EO B — S0 AL AT - (4%)
@) ~ FIEEEAREATEL? B AR SR AR AR 4R R R
JZ ° (6%) |

[(%52H-34H]



(1) ~ Please compare the prokaryotic cell and eukaryotic cell. (5%)
(2) ~ Cell cycle consists of four major different phases: Gy, S, G, and M. Please
describe the four phases and explain their importance. (5%)

4~
TEZH T BRI ERESE
Activators RNA
polymerase
L I I ]
Enhancer Promoter Gene
s iR 18 TR B BH B AL RIS (transcription) ABRAREIRE (10%)
(a) FEFE(TTEIBIEN (s 2
(b) fEFE(HEEE promoter » 35 FIREERA (TTERI R ?
(c) FERE(TTEEE enhancer > 35 FIHEERA (1TEERA (% ©
(d) FERE(TIEEZE activators @ 1S FIEEER A (HIER A 7
5 N

(1)s&7BH Sexual seletion £ Natural seletion 2 Bi{4  (5%)
Q)AL =94 Symbiosis H2&TEF L o (5%)

6 -
(1){5]35 altruism?z 22451 (3%)
(2)fa] 25 metapopulation?58Z251/(3%)
(3)z/fifFE founder effect F1 bottleneck effect(4%)

[%3H #%4H]



(1) What 1s coelomate animals? What are the evolutionary advantages of having a coelom? (4%)

EERAERY) 7 AR B R B R A SR ()

(2) Please state THREE differences and THREE similarities between reptiles and mammals. (6%)
s o N S BRI ALUBEN ) < Ry Z (A B A = AR B -

8~ R (10%) (R 2 59)

(a) endemic species

(b) maximum parsimony
(¢) pseudocoelom

(d) gnathostome

(e) chondrichthyans

[(F4H #£4H]



